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Genetics Practice Problems

Define the following:
Genotype: wm%% genes Sy )‘\W letlers”

Phenotype: b it ogainiSon looks like , Paysical appearaan
Heterozygous: " Doy /Rec (A o)

Homozygous: Husw;o’z,:jf)aus Vonincint @A}} Ho\mol«jw Rcessive

Punnett Square: Tpo | o ft)('zchd’ beb&_’olﬁ outcomes (Aé‘b
of O@(‘Spr's/g’

Answer the problems below:

1. For each genotype below, indicate whether it is heterozygous (He) or homozygous (Ho)

AAHLDOW\ Ee Hﬁ_ Ii _ﬂg Mm H_c_

Bb He f_He Rec 3 He an Flo Kee
Cc _HL Gg _H_C_ kk H_O_Q(_C 00 _ﬂQ_DOM
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2. For each of the genotypes below determine what phenotypes would be
possible.

Purple flowers are dominant to white Brown eyes are dominant to blue eyes
flowers. l - B(Wf\

i W o Bb Bmm

P \pwb‘ple b D\

op Lot

Bobtails in cats are recessive.

Round seeds are dominant to wrinkled .
seeds. T V\UWV\C\—[ ’(fb (

RRW . rovonal 10|

Rr W w vecess e tad |
rr \A)/\:‘ﬁt\eﬁll




Name:

dominant trait)

Straight hair is dominant to curly.
SS straight- {J(c —DDW\
55 straight HC,

SS curly

Date:

@pointed l'\" M
?_"z_pointed H{_

_‘D_P_ round

4. Set up the Punnet squares for each of the crosses listed below. Round
seeds are dominant to wrinkled seeds.

R

Pointed heads are dominant to round heads.

|

3. For each phenotype below, list the genotypes (remember to use the letter of the
|
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Rrx T v sz re What percentage of the offspring will be round?
iR | er 20 £
£ R
R R | B What percentage of the offspring will be round?
(1R [ Rr | —10¥
:,d__ﬁ €
RR x Rr Q Q& @’Q Whatoper'centage of the offspring will be round?
| Br |Br Lo 7.
€ ¢
Rex Re Rl R e What percentage of the offspring will be round?
(i ér [ 2
Practice with Crosses. Show all work! T
5. ATT (tall) plant is crossed with a tt (short plant). e | T+ |
. !l Tt |1+
What percentage of the offspring will be tall? |00 /. T 4
6. ATt plant is crossed with a Tt plant. T l ,-~ (‘TJQE
What percentage of the offspring will be short? __2_—5 Z € __\__t}_’tt._h_i
7. A heterozygous round seeded plant (Rr) is crossed with a homozygous round seeded
plant (RR).
What percentage of the offspring will be homozygbus (RR)? 20 / Q e

-
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Name: Date:
8. A homozygous round seeded plant is crossed with a homozygous wrinkled seeéed
plant.

What are the genotypes of the parents? Q R X _ (v ' 3

What percentage of the offspring will also be homozygous? O % 4 Em

9. In pea plants purple flowers are dominant to white flowers. ww

If two white flowered plants are cross, what percentage of their offspring will be white

flowered? \OQO 7. x
fe P r
10. A white flowered plantis crossed with a plant that is heterozygous for the trait.
[ i 2 50/ | P
What percentage of the offspring will have purple flowers? A P e ]

P
11. Two plants, both heterozygous for the gene that controls flower color aPre Crossed.

What percentage of their offspring will have purple flowers? ’—ID / ‘0

What percentage will have white flowers? Q/S / P F ()
12. In guinea pigs, the allele for short hair is dominant. TD
Ss '
What genotype would a heterozygous short haired guinea pig have?
What genotype would a purebreeding short haired guinea pig have? &S

What genotype would a long haired guinea pig have? _S3

13. Show the cross for a pure breeding short haired guinea pig and a long haired guinea

pig.
What percentage of the offspring will have short hair? oo/

14. Show the cross for two heterozygous guinea pigs.

What percentage of the offspring will have short hair? ZS fa

What percentage of the offspring will have long hair? Q'S/ .

15. Two short haired guinea pigs are mated several times. Out of 100 offspring, 25 of
t@m have long hq. What are the probable genotypes of the parents?
£ S

S X 3 Show the cross to prove it!
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Genetics Practice Problems

Define the following:

Genotype:
Phenotype:
Heterozygous:
Homozygous:
Punnett Square:

Answer the problems below:

1. For each genotype below, indicate whether it is heterozygous (He) or homozygous (Ho)
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2. For each of the genotypes below determine what phenotypes would be
possible.
Purple flowers are dominant to white Brown eyes are dominant to blue eyes
flowers.
BB
PP
Bb
Pp
bb
pPp

Bobtails in cats are recessive.
Round seeds are dominant to wrinkled

seeds. TT
RR Tt
|
{ Rr tt
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Name: Date:
3. For each phenotype below, list the genotypes (remember to use the letter of the
dominant trait)

Straight hair is dominant to curly. Pointed heads are dominant to round heads.
___ straight ______ pointed

___ straight ______pointed

— curly ______round

4. Set up the Punnet squares for each of the crosses listed below. Round
seeds are dominant to wrinkled seeds.

What percentage of the offspring will be round?

i
Rrx rr .
| i
i
— 1| wnatpercentage of the offspring will be round?
N
RR x Rr { % What percentage of the offspring will be round?
Rr x Rr i What percentage of the offspring will be round?

Practice with Crosses. Show all work!

5. A TT (tall) plant is crossed with a tt (short plant). ’ N i

What percentage of the offspring will be tall?

6. A Tt plant is crossed with a Tt plant.

What percentage of the offspring will be short? ,

7l. A r(reterozygous round seeded plant (Rr) is crossed with a homozygous round seeded
plant (RR).

What percentage of the offspring will be homozygous (RR)?




8. A homozygous round seeded plant is crossed with a homozygous wrinkled seeded
plant.

What are the genotypes of the parents? X

What percentage of the offspring will also be homozygous?

9. In pea plants purple flowers are dominant to white flowers.

If two white flowered plants are cross, what percentage of their offspring will be white
flowered?

10. A white flowered plantis crossed with a plant that is heterozygous for the trait.

What percentage of the offspring will have purple flowers?

11. Two plants, both heterozygous for the gene that controls flower color are crossed.

What percentage of their offspring will have purple flowers?

What percentage will have white flowers?

12. In guinea pigs, the allele for short hair is dominant.

What genotype would a heterozygous short haired guinea pig have?
What genotype would a purebreeding short haired guinea pig have?
What genotype would a long haired guinea pig have?

13. Show the cross for a pure breeding short haired guinea pig and a long haired guinea
pig.

What percentage of the offspring will have short hair?

14. Show the cross for two heterozygous guinea pigs.
What percentage of the offspring will have short hair?

What percentage of the offspring will have long hair?

15. Two short haired guinea pigs are mated several times. Out of 100 offspring, 25 of
them have long hair. What are the probable genotypes of the parents?

X Show the cross to prove it!




